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(4) CîUVm
1) Vmn‘mZ,  gmnoj d Jwá CîUVm
2) CîUVoMo  dhZ, A{^gaU, CËgO©Z
3) AmÐ©Vm, erVJ¥h
4) W‘m}S>m`Zm{‘H$

1) Vmn‘mZ, gmnoj d Jwá CîUVm
1) earamÀ`m Vmn‘mZmV 50 {S>J«r gopëgAg ~Xb hmoVmo, Va Ho$pëdZ ñHo$bda Vmn‘mZmV hmoUmam hm ~Xb ...... Agob:

1) 70K 2) 20K 3) 50K 4) 323K

1) The change in temperature of body is 50°C, then the change in temperature on kelvin scale will

be:

1) 70K 2) 20K 3) 50K 4) 323K

2) W‘©br g§doXZerb ’$moQ>moH§$S>ŠQ>a‘wio, Vmn‘mZmVrb ’$aH$ ........ n¶©§V OmUyZ KoUo e³¶ hmoVo.
1) 10°C 2) 0-1°C 3) 0-01°C 4) 0-001°C

2) Thermally sensitive photoconductors permit to discriminate temperature differences of ..........

1) 10°C 2) 0-1°C 3) 0-01°C 4) 0-001°C

3) ‘mZH$ dm ẁ‘§S>br` Xm~mda, CËH$bZ q~Xy Á`mMm CFC gdm©V H$‘r Amho .............
1) Ama-11 2) Ama-12 3) Ama-22 4) Ama-502

3) At standard atmospheric pressure, boiling point of which CFC is the lowest  .............

1) R-11 2) R-12 3) R-22 4) R-502

4) ‘wcmMm Vmn 1040 F Amho. ho Vmn‘mZ {H$Vr {S>J«r gopëg¶g Amho ?
1) 350 gopëg¶g 2) 370 gopëg¶g 3) 390 gopëg¶g 4) 400 gopëg¶g

4) The fever of a child is 104°F. What is this temperature in degree Celsius ?

1) 35°C 2) 37°C 3) 39°C 4) 40°C

5) Iam~ hmoD$ Z ò åhUyZ BÝgw{bZ B§OoŠeZ ............ Vmn‘mZmg gmR>dyZ R>odVmV.
1) 150 go Vo 250 go 2) 20 go Vo 80 go 3) -200 go 3) -800 go

5)  To avoid spoilage insulin injection should be stored at ............

1) 150 C to 250 C 2) 2 0 C to 80 C 3) -200 C 3) -800 C

6) ’$m‘m©ñ ẁ{Q>H$b Am{U d¡ÚH$s` CËnmXZm§À`m {ZOªVwH$sH$aUmgmR>r ~mînObr¶ dm’o$Ûmao {ZOªVwH$sH$aU à{H«$¶m ..........
ñQ>r‘-ñQ>oabm`PoeZ Vmn‘mZmg nma nmS>br OmVo.
1) 1210 go 2) 1600 go 3) 4500 go 4) 6000 go

6) Steam-sterlization temperature employed in moist heat sterlization of pharmaceutical and medical

products.

1) 1210 C 2) 1600 C 3) 4500 C 4) 6000 C
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7) Oa 1 {H$bmo nmUr 0°C Vo 100°C n ª̀V Ja‘ Ho$bo Va Ë`m‘Ü¶o ........ CîUVm OmoS>br OmB©b.
1) 450 kJ 2) 418 kJ 3) 3350 kJ 4) 10, 000 calories

7) If 1 kg of water is heated from 0°C to 100°C the sensible heat added to it will be

1) 450 kJ 2) 418 kJ 3) 335 kJ 4) 1000 calories

8) H$mMoMr ̂ m§S>r, g§X§e, H$mÌr {ZOªVwH$ H$aÊ`mgmR>r amIÊ`mMm {e’$mag Ho$bobm H$mbmdYr Am{U Vmn‘mZ ______ Amho.
1) 45 {‘{ZQ>m§gmR>r 120°C 2) 60 {‘{ZQ>m§gmR>r 160°C

3) 7.5 {‘{ZQ>m§gmR>r 180°C 4) 30 {‘{ZQ>m§gmR>r 180°C

8) The recommended holding period and temperature to be maintained for sterilising glassware,

forceps, scissors is ______.

1) 120°C for 45 minutes 2) 160°C for 60 minutes

3) 180°C for 7.5 minutes 4) 180°C for 30 minutes

9) ‘hmamï´> H$maImZm {Z`‘, 1963 ‘Ü ò, g§X^m©Zwgma AÝ`Wm Amdí`H$ Zgë`mg, "{S>J«r' (qH$dm Vmn‘mZ) åhUOo
A§e......
1) g|Q>rJ«oS> ñHo$bda 2) H°$barO
3) ’°$aoZhmBQ> ñHo$bda 4) {~«{Q>e W‘©b ẁ{ZQ²g

9) In Maharashtra Factories Rules, 1963, unless the context otherwise requires, ‘Degrees’ (or

temperature) means degrees ......

1) On the centigrade scale 2) Calories

3) On the Fahrenheit scale 4) British thermal units

10) H$moaS>çm CîUVm {ZOªVwH$sH$aUm‘Ü ò Imbrbn¡H$s H$moUË¶m {ZOªVwH$sH$aU ‘mnX§S>mMo n[aajU Ho$bo OmVo ?
1) J°g H$m°ÝgÝQ´>oeZ 2) Vmn‘mZ
3) {H$aUmoËgJm©Mo àXe©Z 3) ao{S>EeZ S>mog

10) One among the following sterilization parameter is monitored in dry heat sterlization.

1)  Gas concentration 2) Temperature

3) Exposure to radiation 3) Radiation dose

11) A¾r àÁd{bV H$aÊ`mgmR>r Amdûm`H$ Agboë`m VrZ KQ>H$m§À¶m {ÌH$moUm‘Ü¶o .......... ho KQ>H$ AmhoV:
1) hdm, CîUVm Am{U {R>UJr 2) B§YZ, CîUVm Am{U noQ´mob
3) hdm, CîUVm Am{U B§YZ 4) Yya, CîUVm Am{U hdm

11) The triangle illustrates the three elements a fire needs to ignite. These elements are:

1) air, heat and spark 2) fuel, heat and petrol

3) air, heat and fuel 4) smoke, heat and air

12) ............ øm nXmWmªMm à{VamoYH$Vm {ZUm©¶H$ (critical)  Vmn‘mZmÀ¶m Imcr eyÝ¶ hmoVo.
1) dmhH$ 2) amoYH$
3) A{VdmhH$ 4) ¶mn¡H$s Zmhr

12) ............. are materials whose resistivities become zero below a critical temperature.

1) Conductors 2) Insulators

3) Super conductors 4) None of these
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13) {Zanoj Vmn‘mZmbm ............ nXmWmªMr amooYH$Vm eyÝ¶ hmoVo.
1) dmhH$ 2) amoYH$ 3) A{VdmhH$ 4) ¶mn¡H$s Zmhr

13) ............. are materials whose resistivities become zero below a critical temperature.

1) Conductors 2) Insulators 3) Super conductors 4) None of these

14)  .......... ho gdm©V H$‘r Vmn‘mZ Amho Á`mda àÁdbZ òmoVmÀ`m dmnam‘wio ÐdmÀ`m n¥ð>^mJmda Á`moV M‘H$Vo.
1) CËH$bZ q~Xy 2) ~mîn Xm~
3) âb°e nm°B§Q> 4) ~mînr^dZ q~Xy

14)  .......... is the lowest temperature at which the application of an ignition source will cause a

flame to flash across the surface of the liquid.

1) Boiling point 2) Vapour pressure

3) Flash point 4) Evaporation point

15) Amobo ~ë~, S´m` ~ë~ Am{U Xdq~Xy Vmn‘mZmÀ`m 3 Vmn‘mZ ‘yë`m§Mr KQ>Ë`m H«$‘mZo ‘m§S>Ur ........ Aer Agob.
1) Xdq~Xy Vmn‘mZ, H$moaS>çm ~ë~Mo Vmn‘mZ, Amobo ~ë~ Vmn‘mZ.
2) H$moaS>çm ~ë~Mo Vmn‘mZ, Amoë`m ~ë~Mo Vmn‘mZ, Xdq~Xy Vmn‘mZ.
3) H$moaS>çm ~ë~Mo Vmn‘mZ, Xdq~Xy Vmn‘mZ, Amoë`m ~ë~Mo Vmn‘mZ.
4) darbn¡H$s Zmhr

15) The arrangement of 3 temperature values of wet bulb, dry bulb and dew point temperature in

decreasing order will be ........

1) Dew point temperature, dry bulb temperature, wet bulb temperature.

2) Dry bulb temperature, wet bulb temperature, dew point temperature.

3) Dry bulb temperature, dew point temperature, wet bulb temperature.

4) Nene of the above

2) CîUVoMo  dhZ, A{^gaU, CËgO©Z
1) J°g ^aboë`m Ho$~ëg‘Ü ò gmYmaUnUo .......... dm ỳMm dmna gw‘mao ........ Xm~mZo hmoVmo.

1) hm`S´moOZ, 12 Vo 15 dmVmdaU 2) Zm`Q´moOZ, 12 Vo 15 dmVmdaU
3) Am°pŠgOZ, 5 Vo 10 dmVmdaU 4) gë’$a, 5 Vo 10 dmVmdaU

1) In gas filled cables generally ........... gas is used at a pressure of about ........

1) Hydrogen, 12 to 15 atmospheres 2) Nitrogen, 12 to 15 atmospheres

3) Oxygen, 5 to 10 atmospheres 4) Sulphur, 5 to 10 atmospheres

2) Ý ỳQ>ZÀ`m erVH$aUmÀ`m {Z`‘m‘Ü ò, CîUVm hñVm§VaUmÀ¶m .......... Ûmao {Xbo OmVo.
Q = h A (T

s 
- T

f
), òWo  h = CîUVm hñVm§VaU JwUm§H$ Amho.

1) gamgar 2) ñWm{ZH$ 3) OmJ{VH$ 4) darbn¡H$s H$mhrhr Zmhr
2) In Newton’s law of cooling, heat transfer is given by ..........

Q = h A (T
s 
- T

f
). Here h is ......... heat transfer coefficient.

1) average 2) local 3) global 4) None of the above
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3) .......... {Z¶‘ gm§JVmo H$s dhZm‘wio CîUVm hñVm§VaUmMo à‘mU H«$m°g-goŠeZb joÌ Am{U Vmn‘mZ J«o{S> §̀Q>À`m
à‘mUmV AgVo.
1) ñQ>r’$Z-~moëQ>P‘ZMm 2) Ý ỳQ>ZMm 3) ’y$[a`aMm 4) {H$M©hm°’$Mm

3) .......... law states that the amount of heat transfer due to conduction is proportional to the cross-

sectional area and temperature gradient.

1) Stefan-Boltzmann’s 2) Newton’s 3) Fourier’s 4) Kirchhoff’s

4) Imbrbn¡H$s H$moUË¶m nXmWm©Mr Am¡pî‘H$ àdmhH$Vm gdm©V OmñV AgVo?
1) bmHy$S> 2) A°ë¶w{‘{Z¶‘ 3) H$mM 4) Mm§Xr

4) Which of the following substance has the highest thermal conductivity ?

1) Wood 2) Aluminium 3) Glass 4) Silver

5) Ooìhm nmUr H«$m§{VH$ Vmn‘mZq~XyÀ`m da pñWa Xm~mZo Ja‘ Ho$bo OmVo, Voìhm .......
1) Vo Ðd + ~mîn XmoZ-’o$O {‘lU ~ZdVo 2) Vo H$moaS>o g§V¥á dm’$ ~ZdVo
3) Vo AMmZH$ ~mîn ‘Ü ò M‘H$Vo 4) darbn¡H$s H$moUVohr eŠ` Amho

5) When water is heated at a constant pressure above critical point, then ........

1) it forms liquid + vapour two-phase mixture 2) it forms dry saturated steam

3) it flashes suddenly into vapour 4)any of the above is possible

6) J°{g{’$Ho$eZ à{H«$ òV Ja‘ dm ỳMr H$m ©̀j‘Vm .......... Amho
1) dm¶yMr CîÊVm j‘Vm Am{U g§doXZerbVm ¶m§À¶m g‘ à‘mUmV
2) dm¶yMr CîÊVm j‘Vm Am{U g§doXZerbVm ¶m§À¶m ì`ñV à‘mUmV
3) KZ B§YZm‘Ü ò CnbãY CîUVoÀ`m g‘ à‘mUmV
4) darbn¡H$s H$mhrhr Zmhr

6) Hot gas efficiency in gasification process is ..........

1) Directly proportional to potential and sensible heat of gas

2) Inversely proportional to potential and sensible heat of gas

3) Directly proportional to heat available in solid fuel

4) None of the above

7) H$‘r Vmn‘mZmÀ¶m dñVyVyZ Cƒ Vmn‘mZmdarb dñVyV, CîUVm ñWmZm§VaU ......
1) Ae³¶ Amho
2) XmoÝhr dñVy g§nH$m©V R>odyZ e³¶ Amho
3) H$mhr ~mø H$m¶© H$ê$Z Vo e³¶ Amho
4) ¶mn¡H$s Zmhr

7) Transfer of heat from a body at low temperature to a body at higher temperature is ...

1)  impossible

2)  possible by keeping both the bodies in contact

3)  possible by doing some external work

4)  None of the above



‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 46

For Private Circulation Only

8) g§dhZr dñVw‘mZ hñVm§VaU ........... ‘wio hmoVo.
1) aoUy§Mr `mÑpÀN>H$ JVr 2) ‘moR>çm à‘mUmV àdmhmÛmao nXmWm©Mr dmhVyH$
3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s H$mhrhr Zmhr

8) Convective mass transfer occurs due to ........

1) Random motion of molecules 2) Transport of a substance by bulk flow

3) Both (1) and (2) 4) None of the above

3) AmÐ©Vm, erVJ¥h
1) 15 m3/Vmg nmUr 210C Vo 150C n ª̀V W§S> Ho$ë`mda TR ‘Ü ò ao{’«$OaoeZ bmoS> H$m` Amho?

1) 15TR 2) 25TR 3) 29.76 TR 4) 30.24 TR

1) What is refrigeration load in TR when 15 m3/hr of water is cooled from 21°C to 15°C ?

1) 15TR 2) 25TR 3) 29.76 TR 4) 30.24 TR

2) ao{’«$OaoeZMo 1TR ............ Amho.
1) 2550 kcal/Vmg 2) 3024 kcal/Vmg 3) 4100 kcal/Vmg 4) 4210 kcal/Vmg

2) 1TR of refrigeration is .............

1) 2550 kcal/hr 2) 3024 kcal/hr 3) 4100 kcallhr 4) 4210 keal/hr

3) dm°Q>a Hy$qbJ {gñQ>r‘‘Yrb W‘m}ñQ>°Q> ìhm°ëìh hmD$Q> ......... Vmn‘mZmg CKSy> bmJVmo.
1) 90°C 2) 80°C 3) 100°C 4) 70°C

3) Thermostat valve in water cooling system starts to open at ahout .......... temperature.

1) 90°C 2) 80°C 3) 100°C 4) 70°C

4) W‘©br g§doXZerb ’$moQ>moH§$S>ŠQ>a‘wio, Vmn‘mZmVrb ’$aH$ ........ n¶©§V H$aUo e³¶ hmoVo.
1) 10°C 2) 0-1°C 3) 0-01°C 4) 0-001°C

4) Thermally sensitive photoconductors permit to discriminate temperature differences of ..........

1) 10°C 2) 0-1°C 3) 0-01°C 4) 0-001°C

5) H$m°§àogaÀ`m {dñWmnZmg {dV[aV ‘wº$ hdoMo JwUmoÎma ............ åhUVmV.
1) g‘Vmnr` H$m ©̀j‘Vm 2) EHy$U H$m ©̀j‘Vm
3) ìhm°ë ỳ‘o{Q´H$ H$m ©̀j‘Vm 4) EAa S´m`a H$m ©̀j‘Vm

5) Ratio of free air delivered to compressor displacement is called .............

1) Isothermal efficiency 2) Total efficiency

3) Volumetric efficiency 4) Air drier efficiency

6) B‘maVr‘Ü ò Ja‘ H$aUo, hdoera H$aUo Am{U dmVmZwHy${bV H$aUo hm àmW{‘H$ CÔoe ............ Amho.
1) CîUVm D$Om© OmoSy>Z qH$dm H$mTy>Z Q>mHy$Z H$moaS>çm ~ë~Mo Vmn‘mZ, AmÐ©Vm Am{U hdoMr JwUdÎmm {Z §̀{ÌV H$aUo
2) hdm OmoSy>Z qH$dm H$mTy>Z Q>mHy$Z ImobrVrb hdoMo Vmn‘mZ W§S> H$aUo
3) CîUVm D$Om© H$mTy>Z hdoMo Vmn‘mZ W§S> H$aUo
4) darbn¡H$s H$mhrhr Zmhr
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6) The primary purpose of heating, ventilating and air conditioning in the building is .............

1) toregulate the dry bulb temperature, humidity and air quality by adding or removing heat energy

2) to cool the air temperature in room by adding or removing air

3) to cool the air temperature by removing heat energy

4) none of the above

7) HVAC (Heating, Ventilation, and Air Conditioning) àUmbrVrb dm ẁdrOZ ̀ §ÌUogmR>r Imbrb {dYmZo gË`
AmhoV H$s ImoQ>r AmhoV Vo gm§Jm.
{dYmZ 1 : dm ẁdrOZ §̀ÌUoV ~mhoarb hdoer AmVrb hdoMr XodmUKodmU H$éZ ñdÀN> hdm nwadR>m gw{Z{íMV Ho$bm OmVmo.
{dYmZ 2 : dm ẁdrOZ §̀ÌUm hdm {’$ëQ>a H$aÊ`mV qH$dm AmÐ©VoMr `mo½` nmVir amIÊ`mV ŷ{‘H$m ~OmdVo.
n¶m©¶r CÎmao …
1) XmoÝhr {dYmZo gË` AmhoV
2) {dYmZ 1 gË` Amho na§Vw {dYmZ 2 ImoQ>o Amho
3) {dYmZ 2 gË` Amho na§Vw {dYmZ 1 ImoQ>o Amho
4) XmoÝhr {dYmZo AgË` AmhoV

7) State whether the following statements for the ventilation mechanism in the HVAC(Heating,

Ventilation, and Air Conditioning) system are true or false.

Statement 1 : It exchanges inside air with outside air to ensure a fresh supply.

Statement 2 : It plays a role in filtering the air or maintaining the proper level of humidity.

Answer options :

1) Both the statements are true

2) Statement 1 is true but Statement 2 is false

3) Statement 2 is true but Statement 1 is false

4) Both the statements are false

8) ~mînr^dH$ Vmn‘mZ dmT>dë¶mg H$m°§àogaMm drO dmna .............
1) dmT>Vmo 2) H$‘r hmoVmo
3) pñWa amhVmo 4) darbn¡H$s Zmhr

8) Compressor power consumption will .......... by raising evaporator temperature.

1) Increase 2) Decrease

3) Remains constant 4) None of the above

9) nmÊ`mMo `mo½` dm ẁdrOZ gw{Z{l²MV H$aÊ`mgmR>r, ........ Amdí`H$ Amho.
1) hdoÀ`m g§nH$m©V nmÊ`mMo joÌ’$i dmT> 2) ÐdmMm n¥ð>^mJ gVV hbdV R>odUo
3) nmÊ`mMm hdoer g§nH©$ hmoÊ`mMr doi dmT> 4) darb gd©

9) To ensure proper aeration of water, it is necessary to ........

1) Increase the area of water in contact with air

2) Keep the surface of the liquid constantly agitated

3) Increase the time of contact of water with air

4) All of the above
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10) hdoVrb AmÐ©Vm dmT>dÊ`mgmR>r qH$dm {Q>H$dyZ R>odÊ`mÀ`m CÔoemZo dmVmZwHy${bV OmJoV hdo‘Ü ò nmÊ`mMr dm’$ OmoS>Ê`mMr
à{H«$`m Imbrbà‘mUo AmoiIbr OmVo ..........
1) gm’$ H$aUo 2) W§S> H$aUo 3) dehumidifyiung 4) humidifying

10) The process of adding water vapour to the air in the conditioned space for the purpose of raising

or maintaining the moisture content of the air is known as :

1) cleaning 2) cooling 3) dehumidifyiung 4) humidifying

11) ~mîn H$åàoeZ ao{’«$OaoeZ {gñQ>‘‘Ü ò Imbrb Jmoï>tMm g‘mdoe Amho ........
1) H§$àoga, H§$S>oÝga, {dñVma dmëd Am{U CîUVm n§n 2) H§$àoga, H§$S>oÝga, CîUVm n§n Am{U ~mînr^dH$
3) H§$àoga, CîUVm n§n, {dñVma dmëd Am{U ~mînr^dH$ 4) H§$àoga, H§$S>oÝga, {dñVma dmëd Am{U ~mînr^dH$

11) The vapour compression refrigeration system comprises of :

1) compressor, condenser, expansion valve, and heat pump

2) compressor, condenser, heat pump, and evaporator

3) compressor, heat pump, expansion valve, and evaporator

4) compressor, condenser, expansion valve, and evaporator

12) {hdmù`mV Amam‘mgmR>r, dmVmZwHy$bZ Amdûm`H$ Amho ...........
1) Hy$qbJ Am{U AmÐuH$aU 2) Hy$qbJ Am{U AmÐuH$aU
3) Ja‘ H$aUo Am{U AmÐuH$aU H$aUo 4) Ja‘ H$aUo Am{U AmÐuH$aU H$aUo

12) For comfort in winter season, air conditioning requires ...........

1) Cooling and humidification 2) Cooling and dehumidification

3) Heating and humidification 4) Heating and dehumidification

13) EAa H§${S>eqZJ S>ŠQ> {S>PmBZgmR>r H$moUË`m nÕVr dmnaë`m OmVmV?
1) g‘mZ Kf©U/àoea S´m°n nÕV 2) doJ H$‘r H$aÊ`mMr nÕV
3) ñQ>°{Q>H$ arJoZ nÕV 4) darb gd©

13) What are the methods used for air conditioning duct design ?

1) Equal friction /pressure drop method 2) Velocity reduction method

3) Static regain method 4) All of the above

14) EH$ Q>Z ao{’«$OaoqQ>J ‘erZ åhUOo .......
1) ‘erZMo EHy$U dOZ EH$ Q>Z Amho
2) dmnaboë`m ao{’«$Oa§Q>Mo à‘mU EH$ Q>Z Amho
3) EH$ Q>Z nmÊ`mMo ~’$m©V ê$nm§Va hmoD$ eH$Vo
4) EH$ Q>Z ~’©$ 0°C da 24 VmgmV {dVië`mda, ao{’«$OaoqQ>J à^md 14,000 kd à{V Vmg BVH$m AgVmo

14)  A one tonne refrigerating machine means that .......

1) The total weight of the machine is one tonne

2) The quantity of the refrigerant used is one tonne

3) One tonne of water can be converted into ice

4) One tonne of ice when melts at 0°C in 24 hours, the refrigerating effect is equivalent to

14,000 kd per hour
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15) ao{’«$OaoeZ‘Ü ò dmnaë`m OmUmè`m ao{’«$Oa§Q>Mr {dî¶‘§XVm ...... AgUo Amdûm`H$ Amho.
1) ‘Ü`‘ 2) {ZåZ 3) Cƒ 4) darbn¡H$s H$mhrhr Zmhr

15) The viscosity of refrigerant used in refrigeration is required to be .......

1) Medium 2) Low 3) High 4) None of the above

16) ao{’«$Oa§Q> H$m±àoga‘Ü ò Ðd àdoe ...... ‘wio Q>mibm OmVmo.
1) ’$º$ {nñQ>Z Am{U {gb|S>a Ag|ãbrÀ`m ñH$moA[a¨JMr eŠ`Vm 2) ’$º$ d§JU YwUo
3) XmoÝhr (1) Am{U (2) EH$Ì 4) JiVr g‘ñ`m

16) Liquid entry to refrigerant compressor is avoided due to ......

1) Chances of scoring of piston and cylinder assembly only

2) Washing away of lubricant only

3) Both (1) and (2) together

4) Leakage problem

17) KaJwVr ao{’«$OaoQ>a‘Ü ò ao{’«$Oa§Q>Mm {dñVma ............ ‘Ü ò Ho$bm OmVmo.
1) g§M`H$ 2) S´m`a 3) Ho${eH$m Zir 4) `mn¡H$s Zmhr

17) The expansion of the refrigerant in domestic refrigerator is carried out in .............

1) Accumulator 2) Drier 3) Capillary tube 4) None of these

18) H$moëS> ñQ>moaoO ao{’«$OaoeZ {gñQ>‘‘Ü ò Cƒ-Xm~ Ðd H§$S>oÝgoQ> H$moR>o gmR>dbo OmVo?
1) H§$S>oÝga 2) {dñVma dmëd 3) ~mînr^dH$ 4) [a{gìha

18) Where is the high-pressure liquid condensate stored in the cold storage refrigeration system ?

1) Condenser 2) Expansion valve 3) Evaporator 4) Receiver

19) ao{’«$Oa§Q>Mo Imbrbn¡H$s H$moUVo JwUY‘© Adm§pÀN>>V AmhoV?
1) Cƒ J§̂ ra Vmn‘mZ 2) ÐdmMr H$‘r {d{eï> CîUVm
3) Cƒ CËH$bZ q~Xy 4) ~mînmMo H$‘r {d{eï> à‘mU

19) Which of the following properties of a refrigerant is undesirable ?

1) High critical temperature 2) Low specific heat of liquid

3) High boiling point 4) Low specific volume of vapour

20) Hy$qbJ Am{U hrqQ>J H$m°BbMo H$m ©̀àXe©Z .......... ‘wio Mm§Jbo hmoB©b
1) XmoÝhr H$m°BbMm Cƒ ~m`nmg KQ>H$
2)  XmoÝhr H$m°BbMm bmoAa ~m`nmg ’°ŠQ>a
3) Cƒ ~m`nmg ’°ŠQ>agh Hy$qbJ H$m°Bb Am{U H$‘r ~m`nmg ’°ŠQ>agh hrqQ>J H$m°Bb
4) darbn¡H$s H$mhrhr Zmhr

20) The performance of cooling and heating coil will be better with ....

1) Higher bypass factor of both coils

2) Lower bypass factor of both coils

3) Cooling coil with high bypass factor and heating coil with low bypass factor

4) None of the above
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21) B§Q>aHy$qbJ Am{U ar{hqQ>Jgh, XmoZ-ñQ>oO J°g Q>~m©BZ ßbm§Q>‘Ü ò .........
1) H$m ©̀ JwUmoÎma Am{U W‘©b H$m ©̀j‘Vm XmoÝhr gwYmaVo.
2)  H$m‘mMo à‘mU gwYmaVo na§Vw W‘©b H$m ©̀j‘Vm H$‘r hmoVo.
3) W‘©b H$m ©̀j‘Vm gwYmaVo na§Vw H$m‘mMo à‘mU H$‘r hmoVo.
4) H$m‘mMo à‘mU Am{U W‘©b H$m ©̀j‘Vm XmoÝhr H$‘r hmoVo.

21) In two-stage gas turbine plant, with intercooling and reheating .......

1) both work ratio and thermal efficiency improves.

2) work ratio improves but thermal efficiency decreases.

3) thermal efficiency improves but work ratio decreases.

4) both work ratio and thermal efficiency decreases.

22) Imbrb {dYmZo {dMmamV ¿`m:
{dYmZ I : EAa ao{’«$OaoQ>a‘Ü ò hdoÛmao dmhÿZ Zobr OmUmar CîUVm Ho$di `mo½` CîUVoÀ`m ñdê$nmV AgVo.
{dYmZ II : åhUyZ, EAa ao{’«$OaoQ>a‘Ü` hdoÀ`m A{^gaUmMo dñVw‘mZ  ho BVa ao{’«$Oa§Q>  àUmbr‘Ü¶o dmnaë`m OmUmè¶m
dñVw‘mZmnojm OmñV Amho.
{dYmZ III : åhUyZ, Amdûm`H$ hdoMo n[ag§MaU BVa ao{’«$Oa§Q> dmnaboë`m àUmbtnojm H$‘r Amho.
Imbrbn¡H$s `mo½` CÎma {ZdS>m :
1) {dYmZ I Am{U {dYmZ II ~amo~a Amho 2) {dYmZ II Am{U {dYmZ III ~amo~a AmhoV
3) {dYmZ I Am{U {dYmZ III ~amo~a AmhoV 4) ’$º$ {dYmZ I ~amo~a Amho

22) Consider the following statements :

Statement I : In an air refrigerator the heat carried by air is in the form of sensible heat only.

Statement II : Therefore, mass of air circulation required is more than other refrigerant used

systems.

Statement III : Therefore, mass of air circulation required is less than other refrigerant used

systems.

Select the correct answer from the following :

1) Statement I and Statement II are correct 2) Statement II and Statement III are correct

3) Statement I and Statement III are correct 4) Only Statement I is correct

23) ao{’«$OaoeZ {gñQ>r‘À`m `mo½` W‘©b BÝgwboqQ>J ‘Q>o[a`bÀ`m {ZdS>r‘Ü ò H$moUVm JwUY‘© Adm§{N>V Amho?
1) H$‘r W‘©b MmbH$Vm 2) Cƒ AmÐ©Vm emofÊ`mMr j‘Vm
3) nmÊ`mÀ`m dm’o$bm A ôÚ 4) AmJrMm à{VH$ma

23) Which is undesirable property in the selection of proper thermal insulating material of a

refrigeration system ?

1) Low thermal conductivity 2) High moisture absorption capacity

3) Impervious to water vapour 4) Resistance to fire

24) ao{’«$Oa§Q>Mo Imbrbn¡H$s H$moUVo JwUY‘© Adm§pÀN>>V AmhoV?
1) Cƒ J§̂ ra Vmn‘mZ 2) ÐdmMr H$‘r {d{eï> CîUVm
3) Cƒ CËH$bZ q~Xy 4) ~mînmMo H$‘r {d{eï> à‘mU

24) Which of the following properties of a refrigerant is undesirable ?

1) High critical temperature 2) Low specific heat of liquid

3) High boiling point 4) Low specific volume of vapour
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25) KaJwVr ao{’«$OaoQ>a‘Ü ò ao{’«$Oa§Q>Mm {dñVma .......... ¶oWo Ho$bm OmVmo.
1) g§M`H$ 2) S´m`a 3) Ho${eH$m Zir 4) `mn¡H$s Zmhr

25) The expansion of the refrigerant in domestic refrigerator is carried out in .............

1) Accumulator 2) Drier 3) Capillary tube 4) None of these

26) Imbrbn¡H$s H$moUVm CîUVm n§n Ðd àdmhmMo Vmn‘mZ {Z §̀{ÌV H$aÊ`mgmR>r ao{’«$OaoeZ gm`H$b dmnaVmo?
1) EAa-Qy>-EAa CîUVm n§n
2) hdm Vo nmÊ`mMo CîUVm n§n
3) {OAmoW‘©b CîUVm n§n
4) EAa-Qy>-EAa hrQ> n§n Am{U EAa-Qy>-dm°Q>a hrQ> n§n XmoÝhr

26) Which of the following heat pumps use the refrigeration cycle to mainpulate the temerature of a

fluid stream ?

1) Air-to-air heat pumps

2) Air-to-water heat pumps

3) Geothermal heat pumps

4) Both air-to-air heat pumps and air-to-water heat pumps

4) W‘m}S>m`Zm{‘H$
1) .......... {dYmZmV Ago åhQ>bo Amho H$s H$moUË`mhr àUmbrbm W‘m}S>m`Zm{‘H$ MH«$mV H$m ©̀ H$aUo Am{U EH$mM

òmoVgmR>çmVyZ CîUVm hñVm§VaUmÛmao D$Om© àmá H$aVmZm Ë`mÀ`m g^modVmbÀ`m ^mJmV {Zìdi à‘mUmV H$m ©̀ H$aUo
AeŠ` Amho.
1) Ho$pëdZ-ßb±H$ 2) Šbm°{e`g 3) {S>Q>g ~moEëQ>a 4) Šbonoam°Z

1) Statement states that it is impossible for any system to operate in a thermodynamic cycle and

deliver a net amount of work to its surroundings while receiving energy by heat transfer from a

single reservoir.

1) Kelvin-Planck 2) Clausius 3) Dittus Boelter 4) Clapeyron

2) CîUVm Am{U H$m`m©gmR>r Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) CîUVm Am{U H$m ©̀ ho àUmbrMo JwUY‘© AmhoV.
2) CîUVm Am{U H$m‘ XmoÝhr {gñQ>‘‘Ü ò gmR>dbo OmD$ eH$VmV.
3) CîUVm Am{U H$m ©̀ à{H«$ òÀ`m ‘mJm©nmgyZ ñdV§Ì AmhoV.
4) darbn¡H$s H$mhrhr Zmhr

2) Which of the following statements is correct for Heat and Work ?

1) Heat and work are properties of the system.

2) Both heat and work can be stored in the system.

3) Heat and work are independent of path of process.

4) None of the above
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3) Ag§V¥á hdoda A°{S>~°{Q>H$ g§n¥º$VoÀ`m à{H«$ òXaå`mZ ...... pñWa amhVo.
1) H$moaS>çm ~ë~Mo Vmn‘mZ 2) gmnoj AmÐ©Vm
3) Amobo ~ë~ Vmn‘mZ 4) darbn¡H$s H$mhrhr Zmhr

3) During adiabatic saturation process on unsaturated air ...... remains constant.

1) Dry bulb temperature 2) Relative humidity

3) Wet bulb temperature 4) None of the above

4) ~mînmoËgO©ZmVyZ hmoUmam nmÊ¶mMm ì¶¶ H$‘r H$aVm ¶oVmo …
a) à{V~mînmoËgOHo$ dmnê$Z
b) namdV©Ho$ dmnê$Z
c) dmT> amoYHo$ dmnê$Z
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a) Am{U (c) 4) darbn¡H$s gd©

4) Water loss through transpiration can be reduced by :

a) Using antitranspirants

b) Using reflectance

c) Using growth retardants

Answer Options :

1) Only (a) and (b) 3) Only (a) and (c) 2) Only (b) and (c) 4) All of the above

5) bm¶{g‘rQ>aMm dmna .......... ‘moOÊ`mgmR>r Ho$bm OmVmo.
1) KwgImoar 2) ~mînr^dZ
3) ~mînr^dZ 4) ~mîn Xm~

5) Lysimeter is used to measure ................

1) Infiltration 2) Evaporation

3) Evapotranspiration 4) Vapour pressure
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CÎmao … (4) CîUVm

1) Vmn‘mZ, gmnoj d Jwá CîUVm

1-3 2-3 3-4 4-4 5-2 6-1 7-2 8-2 9-3 10-2
11-3 12-3 13-3 14-3 15-2

2) CîUVoMo  dhZ, A{^gaU, CËgO©Z
1-2 2-1 3-3 4-4 5-3 6-1 7-3 8-2

3) AmÐ©Vm, erVJ¥h
1-3 2-2 3-2 4-3 5-3 6-1 7-1 8-2 9-4 10-4
11-4 12-3 13-4 14-4 15-2 16-3 17-3 18-4 19-1 20-2
21-2 22-1 23-2 24-3 25-3 26-2

4) W‘m}S>m`Zm{‘H$
1-1 2-4 3-3 4-4 5-3


